Calculating with Surds |
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= REVISE THIS
I Th

1 Express+/12 in its simplest form.

J12 = {4 x 3

2 Express /50 in its simplest form.

{50 = [25 x{2

3 Express V500 in its simplest form.

@: lOOX\rs-

4 Express+/27 in its simplest form.
13 =9 x I3

5 Express V98 in its simplest form.
{98 = (@ x 2

6 Express 48 in its simplest form.
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23

(Total for Question 1 is 1 mark)

S{L

(Total for Question 2 is 1 mark)

\0{S

(Total for Question 3 is 1 mark)

K

(Total for Question 4 is 1 mark)

HI

(Total for Question 5 is 1 mark)

W[

(Total for Question 6 is 1 mark)
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7 Express 5v8 in its simplest form.

Sxdw x{2
:sz?(\ri \Ori-

(Total for Question 7 is 1 mark)
8 Express4v/18 in its simplest form.

Ux {9 xJ2
= 4x Br2 1202

(Total for Question 8 is 1 mark)

9 Express 24/200 in its simplest form.

2.x 100 x V2
- 2x |0 X\FL Q_Oﬁ

(Total for Question 9 is 1 mark)
10 Express 9v20 in its simplest form.

olxﬁx\!—s'
= 9 x L x{s5 | &4S

(Total for Question 10 is 1 mark)

11 Express 74/640 in its simplest form.

F x (e x {io
:—+)< ?KWO’ Sb\l-r(;

(Total for Question 11 is 1 mark)

12 Express 5v80 in its simplest form.

Sxlle x{S
- Sx% xS 0[S

(Total for Question 12 is 1 mark)
13 Express 3v/72 in its simplest form.

Ax {3exiZ
=$x€>x\ﬁ \XE

(Total for Question 13 is 1 mark)
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14 Work out /6 x v/3 giving your answer in its simplest form.

(R = {7 x2

= AIx (2
U
(Total for Question 14 is 2 marks)
15 Work out /10 x v/6 giving your answer in its simplest form.
{0 = J¢ x \(\‘S

—

L x \is

PRAL
(Total for Question 15 is 2 marks)
16 Work out 2+v/5 x 5v/8 giving your answer in its simplest form.
10J40 = |0 x (¥ x (10
=10 x 2 x {10
2010
(Total for Question 16 is 2 marks)
17 Work out 4+/2 x 24/12 giving your answer in its simplest form.

B2 =

8 x\t x {6

= SxiLx|C
(Total for Question 17 is 2 marks)
18 Work out 2v/20 x 3v/5 giving your answer as an integer.
6{wo = 6% 0
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19 Work out (v6)” giving your answer as an integer.

fe = ¢ =(3%

6

(Total for Question 19 is 2 marks)
4 .
20 Workout (v/5)  giving your answer as an integer.

\{_é_?g Exﬁx@
= S X, S

1S

(Total for Question 20 is 2 marks)
21 Work out (2\/3)3 giving your answer in its simplest form.

203 x 233 x 27

{

SFES
Wx{A x3

%< 2x 03

Ll

-

24{%

(Total for Question 21 is 2 marks)
2 . .
22 Workout (V2 x /3 x+/5)" giving your answer as an integer.

(o) = (3o « @

SO

(Total for Question 22 is 2 marks)
23 Express (V3) inthe formav3 , where a is an integer.

ﬁx@ Kﬁxﬁx\ﬁx\ﬁxkﬁ

* 2 x 3 x 3

2381

(Total for Question 23 is 2 marks)
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24 Work out V60 ++/3 giving your answer in its simplest form.

0 = {4t xS
= 2x {g

2s

(Total for Question 24 is 2 marks)
25Work out 8v/30 = 4v/6 giving your answer in its simplest form.

(Total for Question 25 is 1 mark)
18V150
26 Simplify full
plify fully N

2 IS0 =

Z.xﬁéxﬁ
l X S_X\ﬁ.

—_

FeX P2
27 simplify fully -40Y40

(Total for Question 26 is 2 marks)
5V10

i = @x2

2

(Total for Question 27 is 2 marks)
28 Simplify fully <%)

2

=

S
5

(Total for Question 28 is 2 marks)
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29 Simplify V11 ++11++/11

20

(Total for Question 29 is 1 mark)

30 Simplify 33 +6+/3

AUS

(Total for Question 30 is 1 mark)

31 Simplify 9v7 +3V7 -7

90

(Total for Question 31 is 1 mark)

32 Work out (V2 +6v2— 2\/5)2 giving your answer as an integer.

(eriy—= S{1x S
. s (g
SO

(Total for Question 32 is 2 marks)

33 Simplify 4v3 +6v2 - V3 + 82

22 + |
ol W+ WL

(Total for Question 33 is 2 marks)
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34 Express V18 ++/2 inthe formav2 , where a is an integer.

[ x {1 + |1

= 1§z + (v
4

(Total for Question 34 is 2 marks)
35 Express 2v/3 ++/75 inthe formay3 , where a is an integer.

22+ (28 =<3

= 23 + S(3
" 13

(Total for Question 35 is 2 marks)
36 Express V32 ++/8 inthe formav2 , where a is an integer.

\ﬁzx\ﬁi—ﬁx\ﬁ

- WL o+ 22
P

(Total for Question 36 is 3 marks)

37 Express 3v500 — 20 in the form av/5 , where a is an integer.

3xﬂ53x\f'§ - Jux s
3o{S - 24S

\

25

(Total for Question 37 is 3 marks)
38 Express v28 + /175 —3+/7 inthe formay7 , where a is an integer.

(Wx{F + (< F - 237
= 2 + SIFE - 2F
- 43

(Total for Question 38 is 3 marks)
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39 Ross is doing a surds question.
Ross writes:

300+ T3 =312 1200 + (12
= VA x T8 = Jloo xV3 + (& <03

=2xVR = (003 + 23
ST = \lﬁ

Explain the mistake that Ross has made

ow canndt add, 130 and {1 ac they

do wol \nave Ehe same Y\\UV\\DEF nside, A, J("’Mb.

Roge Should siw\?\'&é {he ficst.

(Total for Question 39 is 1 mark)

V30 x 5V6
V125 -~20

40 Work out

giving your answer as an integer.

S |1g0 S x {26 x {S
{1Sx{s - {tGx (S S{€ -215

(\

()

B x 6x\g
25

= 3007:“
B3

| O

(Total for Question 40 is 4 marks)

8

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

